
MODEL EXAMTNATION, MARCH 2021

Part - III
ECONOMICS

Maximum : 80 Scores

General Instructions to Candidates :

o There is a'Cool-offtime' of 20 minutes in addition to the writing time.

. Use the 'Cool-off time' to get familiar with questions and to plan your answers.

. Read questions carefully before answering.

. Read the instructions carefully.

. Calculations, figures and graphs should be shown in the answer sheet itself.

. Malayalam version of the questions is also provided.'

. Give equations wherever necessary.

. Electronic devices except non-programmable calculators are not allowed in the

Examination Hall.
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Answer the foilowing questions from r to 4rup to a maximum score of g0.
Questions from a to I carry I score each. (lz x I = 12)(a) who is the founding father of modern economics ? 

tt' ^ L - r')

(i) Adam Smith

(iii) Alfred Marshall

(b) 'Problem of Choice, arises out of
(i) Scarcity of resources

(iii) Limited wants

(c)

(d)

(i) Inventory

(iii) Consumption

(e) Total revenue per unit of output is called
(i) Marginal Revenue

(iii) Total Cost

(iii) Increases

Central Bank of India is :

(i) Reserve Bank of India (RBI)
(iii) Canara Bank

Which among the following mentions
Consume (ApC) ?

,.\ AC
( r.,

AY

(iii) c
Y

want satisfying capacity of a cbmmodity is known as(i) Demand (ii) supply
(iii) utility (iv) production

The difference between gross investment and depreciation is

(ii) J.M. Keynes

(iv) Paul A. Samuelson

(ii) Abundances of resource

(iv) Growth of resources

(ii) Saving

(iv) Net Investment

(ii) Total Revenue

(iv) Average Revenue

(iv) First increases then constant

State Bank of India (SBI)

Indian Bank

concept of Average propensity to

(0 Supply remains constant and demand declines, the equiribrium price(i) Constant (ii) D..r.ur..

(ii)

(iv)

the

(i i)

(iv)

AS

AY

S

Y

(h)



I o3oro8 41 orooaoSg cr:cn5ono6oei-.rtoocot<11 erre'leo}a' 80 crEcd rorgojlolaeil"'

a alto)ofl / oroocolgg co-rco5arncrt6o-gonDoo0elola,. 1 coEc6 oil<oro' (12 x I = 12)

1.(a)org<l3crllem.lcm.roro.jlacoccoSarrolocr!Jl<u.rcoicrod?

(b)oJlreo.rongsos.ocoooooro.rsSgfloCICm1.,..tuo"cnop<o.r"reoileoymaii:

(i) GrlcDo mjaloro"

(iii) orgo8l.'noo"ac6"snoE

(i) oJkeolongsos oodare5o

(iii) .r"ro1al<oacor orgor<ro5onod

(i) GorcBmo

(iii) g".tol;a-<or

AC

AY

C
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(i) goEoooflol

(iii) QoJGecoo

(i) mJlocctor oJ@]ocmo

(iii) oocoIlDooo:e-roi

(i) olmrdq orucelac.'n"pcor5 (RBI) (ii)

(iii) 6,cmoc enrcei (iv)

(ii) 0*.o6)o' oo,olodm-1"

(i") c.,-tcoA cl61' m)calcolo8m;enE

(ii) oJleoronglosm-ra5ed

(iv) oJlreorong3os o1964

(ii) loJBCo)o

(iv) ggcamo

(ii) fiDcmcoJo

(iv) toog cnlco^v"-l"

(ii) oocGIOo oJ@]ocoo

(iv) coocuo@1 oltolocoo

( c) crool ro Jo 
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(d) o o c6roo crjl cas 
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(ii) eloao](m]

(iii) ol6<.u1oo3cml
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(g) gcrol5oJloa ce,tcl entcei:
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(i) Two sector economy includes

(i) Firms and Government

(iii) Firms and External Sector

(ii) Firms and Households

(iv) Households and Government

0)

(k)

The market structure in which there are only two sellers is called

(i) Monopoly (ii) Perfect competition

(iv) Monopolistic competition(iii) Duopoly

What does a point inside the production possibility frontier represent ?

(i) The maximum use of resources (ii) Under utiliszation of resources

(iii) The over use of resources (iv) The optimum use of resources

(D Identify'Capital Receipts' from the following

(i) Personal Income Tax

(ii) Service Tax

(iii) Sale of shares in Public Sector Undertakings

(iv) Customs duties

Questions from 2 to 13 carries 2 scores each.

Complete the table given below :

(12x2=24)

Factors of Production Remuneration

Land

Labour

Capital

Organisation

Write any two features of 'Centrally Planned Economy'.

Recognise the type of utility analysis from the following sratements.

(a) The level of utility can be expressed in numbers.

(b) The level of utility can be expressed in rank.



(i) oI c aat el c m)ml B"o€lsmotloE po6o g sym<o'r":

(i) gflcoa, corSerrilgp cnotenEoao!1o

(ii) eflcna colernlg3o cnc<6"rfloccufrn1gl"

(iii) gflcoa, corlerrflglo 6rucooJcoolE-lo)]o

(iv) rnc6.,rila corlern1g3" ooren6oaof,3"

0) @dre-ggcBad oc(<ora]@ eccilcg delsmcolcom-:

(i) aloro.re (ii) dldEm ejlsaoruoo
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"{)clo)-?(i) ojkeolonglos.,l<oocolclfl p"'tcoo;coo

(ii) oileolongSos on.'l366gocao poJGQocoo

(iii) oJlreoLongsers onal<o poJGaa)c@o

(iv) oJlreo"rong;os Gnmlelel<olo QoJGQo)cc)o

(D,rlol os meL"aldlgSggolofl o8 cnlcm].' olel<lcn olool' <oilo1go1or3e

(i) ol5aroflotor ololoccn crfla,;<o'r1

(ii) ccruolcD crfla1<o'il

(iii) oolo<o.llcaolelc cruocolcn@Rglos oc.'ool oilgm

(iv) 6g!ocrD" uJJ$cru-

2 aSro'ro8 13 orooaolgg corcn5onodacr- 2 ccEcta o.[l<oo. $2 x 2 = 24)

2. ollolos cneL-eJlcotlSl@ -Jg1e ":1dolollorc6ole 
:

OEICB(T) "P-rSerOnOd lorO'flrrOer"

clol

o<o'rcdltuS

OJer(J)O?o

GUoo€JCS(T)o

3. .cogo{le5<o-r <orgrnr;trolo-l mtcuo-,',erscncorgos' q$ororeJla3o @6rc" m)oJlct/oosi(o)ac6

o$e]{0)}e,.

4. ,rlotos mer-eJloJlqgg 6"-re6;coLmogilo8 crilcml" go:ao]6nn(oc Gl0ol(u)loff)o

<oflo14o1oo3a:

(a) g".rao1*(u)O(o) Gro6o5irB0a g.,-: ccorccrll2[taogaoccra odlollo.

(b) gor(o)]oto)o)oao mrolcacorrdl(o',140n68 1.,ras1 g[eocod odlorl"
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(a)

(c)

Food

Machines

(b)

(d)

Implements

Clothing

8.

9.

Classify the following into consumption goods and capital goods

What do You mean bY 'Long Run' in production function ?

Write any two reasons for rightward shift of demand curve'

List out the four major sectors of the economy'

What is 'final goods' ? Give an example'

10. Distinguish between Marginal

to Save (MPS).

Propensity to Consume (MPC) and Marginal Propensity

ll.Writeanytwofactorswhichdeterminepriceelasticityofdemand.

12.Whatisthedifferencebetween.Devaluation,and.Revaluation'?

13. Define 'Break even Point''

Questions from 14 to 23 carries 3 scores each'

- ---^.-:^ --^L t ?
14. What are the basic economic problems of an econom)

15. Define substitute goods' Give two examples'

16. Write any three features of 'Perfectly Competitive Market?'

17. write a short note on 'ex-ante' and 'ex-post' concept with suitable examples'

ME-35

(10x3=30)



(a)

(c)

G&B45ITo

orccroronod

(b) 9.,-raoemonc6

(d) <ollerrfloroloarno8

6.

5. dlolos cnetbJlorls]@oloao gojcec@ggrmonoa, CIlel(l)cn ggcmonca 
"oCrrflOnocn

oroocoflo1eolo,.

QHCBCD <l6OAOnrrloE 'rJl6.,etacsoorgoL' oCI(moloooOne'Anottornacao}cm<oi.',{)clo-?

coj c B m ol t6ro ol et c o'ro.r c gi o c o c cn]@ o ene- ec o 6rn amo6 .,{) v3o)34,.

cn-l cnr ri ",et scn coil o er rn c ei 1.,-t t.llc cn G o ol Ot ocd 
"6 

o <or fJ c o ?

' roroorn'l o g HtrDo' o(Dcmc o el co- ? a o; PBcooo5ID" m eL"ooSa

mjlacoor golccc(J) (oJo.r6rD(oaoJo cooccnol QCLIGeCU) (olol6lD{0'rAo}o <O'rmleLpp

orJoJcm)oocro"?

7.

8.

9.

10.

t2.

13.

14.

15.

11. 'oJlel peLcr6;1ao'r' cn16gotl€o](m.,6ooroJlolo @6rle'oelso'o'nod tr6e1ol;e.''

cffiiolole.lOollo (Devaluation),

orJoJcm)oacror-?

oga5o:dcucnccuSo (Revaluation) ormleL;gp

c [6ru 66)" Q ol od a 
"-r 

c comf, oO clo, c o6ID cm" ni'l 6 g Jl 66)]6,'

14 a1orc8 23 orooaoS@ co.tcBJarBsAdo- 3 ccrgc<6 oil<olo' '(10 x 3 = 30)

a o g mr cn: o'.et scn oIl o el GD dl CruO c cn ml c cru oo'l e (oJ Uo-m euRod "9 
o mr g c o ?

1.loflmr.oc.,-rcn otaSloerod of)OtDco6IDCrn- crlldqJleoSa. @5rtel" poc<rooemarnod

cl{|)9]to)]6,.

I 6. .JI6EB ajlsooruo ojloLerrfl cculos o63oolo1 elSo alcm-cruoJlcso"s' olelod "6v3ro3a'

17. orgcru36<u'fltoo (ex-ante), eolmcdoloo (ex-post) "6cnfl GDCoaD6uBog cllo14

Gro (Dlco)cs JacacD pBcoo@flI) m.locjl <oro c @] eloet J6pn g <ilr gcoc@ole.
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18. Complete the chart given below :

Different types of Budget

A l**.**l , Expenditure

B lil;l . Expenditure -ll
c. [*.*r* I 

: Expenditure "ll

19. Prepare a brief note on intermediate goods with suitable examples.

20. List out the profit maximising condition of a firm in a perfectly competitive market.

21. List three different ways in which 'oligopoly' firm may behave.

22. Write any three impacts of the Great Depression of 1929.

23. Explain the concept of liquidity trap.

(a) What does 'A' and'D' indicates ?

(b) IdentiS the methods of National Income calculation corresponding to 'B' and

rc'.

Questions from24 to 31 carries 4 scores each.

24. Observe the following diagram which shows circular flow of income.

(8x4=32)

(2)

(2)

B. Goods and Services

C. Factor lncome

M8.35
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24 a;otaS3l orooco;gg corcoJanrodoo- 4 arpc6 oilcor.
^ rlol os 
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ma"elor13;gg o o;a ccnolo.fl oo$ ot c 1o16 (oJ oJ crrooonr)
cnlcdlaMoogo.
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(a)

(b)
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25. Analyse the effect of changes

What is 'Indifference Curve'

27. Observe the diagram given below :

Price

P*

Pt

Qtv

in consumption and investment on Aggregate Demand'

? Write three features of Indifference curve'
26.

P1

P

ol u* or

(A)

(a) Identify the diagram which shows price

(b) What is price ceiling and price floor ?

ol o* 9i

(B)

floor and Price ceiling' (2)

(2)

(6x5=30)

28.

29.

30.

31.

a)

Write any two objectives of government budget' Explain any one of them'

Differentiate'Balance of, Payments' and'Balance of Trade''

write a brief note on different types of price elasticity of supply'

Whatismonopoly?Writeanythreefeaturesofmonopolymarket.

Questions from 32 to 37 carries 5 scores each'

concePts given in Column-A

Price

Various concePts are

Cl*rg. t, Total Cost P"t ury
Retationship between inputs used and output

produced bY a firm

Change in output per unit of change in the inputs'

Output Per unit of variable inPuts

Atleast one factor remain fixed and can not vary'

(A)

(i) Marginal Product

(ii) Short Run

(iii) Production function

(iv) Marginal cost

(v) Average Product

ME-35
10



5. g.,JceccnotolCI3o crilca^sro-roro'ilag al6lrcceiffn ac$o m)6roJlo cqrcemonrfle:]6rrccoo3cm

crUjcLdl Cno crdor CCI ml 66,J6,.

crflm)oo(ocoJ(&o ogcmcoeroo" ? cnlmr"cno'rc or6aonnloo! a3cm- ruoJlcuoosi(D@roA

o{')e}<o}6.

7 . er Jor os cn er"el(orglgg aDao(U)66BoA o)1 cdle,fl 66)16,

ol o* ctr

(A) (B)
(a) roooJla, oilerrol<rjl 

"Ocrrilo 
acernlaer3cm (DQo[@o <o1o14o1cot3a. (2)

(b) oilet",-rol<ll, coooLla.Ocrrrlo ot5erolaceer;o ? (2)

cnotffioaos eruegloo! 
",6oroei'lerlo @61ril" ere,v5oncrd o6elrol;ar. rsooroioE acrrflorn

61cr14 oLluor5laolaola.

ol5co-rcouololo, cCIoSoi,^l.t!o 
"CIcrrjlo"r 

<om1eL3gg oJJorJccrDo rtoelcl)]er.

1"'rncmolo"rloa! oiJro.lJqy <ooororla;gg oils getcc6;1e,oloao o;o14 ao; 6,]o1i
tDgcocdo]6,.

1. e36roo cr4cmooeroo-? egoloe ecoxcgorc'floa! "gooreJlerlo olcm-ouoJla<ro"slorac,6
oCIelco]&.

32 a3<uroE 37 orercor3gg aucn5arraei-S copcd oilcoro.

2. Garceo A aoloE oJloJlur rsnc/oao6T'Boa metb,loJloloolcml.
cecg 6'nrfl el]gg or eolo col <cro cn;c orc s Jo c ao cdl o, an cf, 16ru)J6r.

(A) (B)
(D mJloccror gflcmo PHcBmoIoflcE ao; oc(<o ac$o m.roreoJl4<o'r1oofl

on eJ aco, ooc6ro)o o": eroJl a35rTgcao) oc$o

(ii) CoofiuleceJaogloi gHc6(ncro)lag",rccoccnl4 crilcorcoonggo cril<0m14

Pfl cmotlo <o'r m1 erSgg fl).ro\Do

(iii) PBcBCn codmo crjlcreoa "etsaoro'r1oo! 5'Jol ac(rol aco3cm<o'floofl

o-o er a c ojl o o c 6rD o g g cm oro'r1 a l6ne C erlfm 0 cp o

(iv) m.Ilacco o":eLoi ojlcrena oeLsao'roilooi aol ac(to.lao]os gflcmo
(v) coocgool oErfiDoLol

"63 
oorell o Jo 63 @] p B c Be oer s&o cnrol o a c ojl o1 eo3rm3

(6x5=30)
Gnoroao B

Price Price

11 P.T.O.
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P
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JJ. Observe the following diagram that

(MP) and Total Product (TP) curves'

(a)

(b)

shows Average Product (AP), Marginal Product

B

Labour

IdentiffTotalProduct,AverageProductandMarginalProductcurves.

State the law of variable proportion'

(3)

(2)

(4 x 8 =32)

34. Explain the components of government budget'

)ribehowsupplyanddemanddeterminebequilibrium35. Explain market equilibrium' Descrrbe how suppty an

price and quantity in competitive market'

lublicgoodsandprivategoods.Classifuthefollowing36.' Write any two characteristics of public goocls ano prr

37. How the excharige rate determined under a fixed exchange rate system with the help of

diagram ?

Questions from 38 to 41 carries 8 scores each'

38. Describe 
.Income method' and 'Expenditure method' for calculating National Income'

39. List the 'quantitative' and 'qualitative' tools used for control the extent of money

supply. Explain any two quantitative tools'

l

into public goods and private goods'

(.j National Defense (b) Clothes
:

(c) Government administration (d) Foods items

(e) Public TransPort - 
(0 Car

ME.35 t2



uo(oc@@l ggcrn !(6o, m-flactror gHCm oJ(6o oocoroo gHcm crj(6ro 
"ocrrjlor0.o cot 1cn oroll o8 ac erril eolcml.

(a)

(b)

ozcG,O OetOD
-d

o'r1o14cr1cor;a.

oJ[&o, COOC</OOI QHCm

B

orolcdlo8

oJ(6:o, mjlacmr QHCm OJ(6o 
"CIcrrjlo

(3)

(2)

o or enE o a o$ e'ru e 
91 

o o! cril oJl cu .et saon o6 ogeltorle.

ac(rucg m;cro'r3eJl<o'rcolouo criluooaceoSa. (oJocotolJo celcBCDoJJo o(6IU@
acmlcAorolloS m-rcro'lSeilo'r oilacorlo {ordeor}o crrldgpoileer}moi o066Roffoqocm-
oLloJlolao;a.

' cril c e oec cn]ol c (o) CD'l (o a o' 6.r-r e6; c oil ao3a.

cru1ac@Jorcgl606 ogcrrlloto.r;os 
"63o<oo*ila3o @6ne-

ooe](6')Je. ollolos oxrnlolooJoDoJoaD oolc(oJoJoelldooa

oorcc6.)]orotJdoua,

mto-rlcuoogiroacd

oDJACO og crnl onom olooofl to16el36.

mroloojlcriloao cnloao" mlicnrocoro.nrflog oJlcrrlaco.r crfloosr-
oCI 6R O m O AO (m" aD ao [(/) oroi o o! m)oo c (o)coroc os ojl so rjl e o1 eo3o.

38 a3o'ro8 4l oroocoSgg crrcoJoncrdecr- g copc6 ojloro.
or@JaccD cdlcrrl, ooraoi cdlo'fl oclcrriloLorlerlos caodlcor
o0) 6B O m O Or Cm- OJI ot o1 6oJ6.

rrAdgoloolcmoi

(4 x 8 =32)
OJOIOC(I)o 6l6I'Dd6,C@6)](IT)toi

oJsID loleccnorc'floo! crL5c".riinloo crflorlcrofleer3cm otogoi .'Joacqo p.ric<docrd,
oJ6rDoJoacQor golc<D1ao8 n6lcrrrloL en$li oolg;e,. o63oroebleJlo <odrn'G6goi oJooce)
porcoleog e3o1g oi(roBocd6,J6.

(a) cocro'lco 1o_rcoilcoccr-lo

(c) mrdaoc6 G@6rro

(e) ooJc@J@ocu)(Do

(b) olgernloooonod

(d) e6$iJ pcn6urlc/A

(0 ec6

t3 P.T.O.



40. Explain Average Fixed cost (AFc) and Average variable cost (AVc)' calculate Total

VariableCost(TVC),AverageVariableCost(AVC)andShortRunMarginalCost
(SMC) from the following :

OutPut (Q) TFC TVC TC AVC SMC

100 10

1 10 18

2 10 24

29
3 10

4 10 35

5 10 43

6 10 53

41. Observe the diagram given below :

Mangoes

MlP2

Orange
o N4/P1

Write the equation of budget line'

Explain why the budget line is downward sloping'

Describe optimal choice of the consumer with the help of diagr-am'

line

(1)

(2)

(s)

(a)

(b)

(c)

ME-35
l4



Pflcm" 1q; TFC TVC TC AVC SMC
0 l0 t0
I 10 t8
2 10 24
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